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S5 b o
65200 9F208 | 128198 | 3A20H
Som 0.057 0.045 0.052 0.058
FE R STL G R AE 50cm 0.050 0.051 0.041 0.047
e {8 2 BE Al 100cm 0.055 0.052 0.051 0.046
150cm 0.048 0.047 0.052 0.054
Som 0.059 0078 0.066 0.065
NN 50cm 0.059 0.076 0.057 0.061
SHBEXAT
100cm 0.055 0.068 0.059 0.059
150cm 0.055 0.069 0.055 0.054
Som 0.099 0.090 0.092 0.083
o 50cm 0.095 0.089 0.085 0.085
kl@.lvﬁ\éil:ﬁ
100cm 0.090 0.084 0.084 0.084
150cm 0.084 0.087 0.086 0.074
Som 0.055 0.048 0.069 0.064
o 50cm 0.058 0.046 0.069 0.065
FINBRE X
100cm 0.065 0.043 0.063 0.065
150cm 0.062 0.041 0.065 0.060
Som 0.083 0.072 0.087 0.074
e 50cm 0.084 0.079 0.082 0.082
RInGERE S EISEAHE
100cm 0.076 0.071 0.068 0.075
150cm 0.072 0.075 0.062 0.080
Som 0.074 0.110 0.077 0.071
. 50cm 0.071 0.100 0.081 0.082
NIXESHR AL
100cm 0.076 0.100 0.081 0.085
150cm 0.076 0.094 0.080 0.074
Som 0.098 0.110 0.092 0.089
‘ 50cm 0.072 0.096 0.077 0.076
NI ANNET A
100cm 0.086 0.087 0.081 0.072
150cm 0077 0.087 0.068 0.074
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6H20H 9H20H 12H19H 3H20H
5cm 0.079 0.088 0.075 0.082
o 50cm 0.070 0.078 0.072 0.080
WmACHREIEERT)
100cm 0.075 0.078 0.073 0.065
150cm 0.075 0.076 0.069 0.061
5cm 0.068 0.106 0.085 0.075
s R 50cm 0.070 0.086 0.069 0.072
BIRYA)LIN—D
100cm 0.067 0.092 0.062 0.066
150cm 0.061 0.083 0.075 0.065
5cm 0.074
. et 50cm 0.070
FuRIICFEEYHE
100cm 0.062
150cm 0.067
5cm 0.087
. 50cm 0.088
IS =S Gl
100cm 0.094
150cm 0.076
5cm 0.071 0.076 0.068 0.087
. 50cm 0.058 0.071 0.062 0.074
=T EI5
100cm 0.064 0.076 0.061 0.068
150cm 0.067 0.067 0.057 0.049
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